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ANNEXE 1 : SYNTHES METHODOLOGIE D’ELABORATION DES COMPTES NATIONAUX 

TRIMESTRIELS (CNT)  

 

𝐘𝐭 = 𝐚𝐈𝐭 + 𝐛 + 𝐮𝐭

It Yt   

𝐮𝐭

�̂�𝐭 = �̂�𝐈𝐭 + �̂�

�̂� �̂�

�̂�𝐢𝐭 = �̂� 𝐈𝐢𝐭 +
�̂�

𝟒

𝐘𝐭 = ∑ �̂�𝐢𝐭 ≠ 𝐘𝐭
𝟒
𝐢=𝟏

𝐮𝐭 = ∑ 𝐮𝐢𝐭
𝟒
𝐢=𝟏
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ût

�̂�𝐭 = 𝐘𝐭 −∑ �̂�𝐢𝐭
𝟒
𝐢=𝟏

𝐘𝐢𝐭 = �̂�𝐢𝐭 +
𝟏

𝟒
�̂�𝐢𝐭 𝐘𝐭 = ∑ 𝐘𝐢𝐭

𝟒
𝐢=𝟏

 (𝑃)

{
 
 

 
 𝑀𝑖𝑛∑∑(∆𝑢𝑖𝑡)

2

4

𝑖=1

𝑇

𝑡=1

                         

 𝑆𝑐 ∑𝑢𝑖𝑡

4

𝑖=1

= �̂�𝑡  ; ∀ 𝑡 = 1,2, … , 𝑇

 ;   𝑎𝑣𝑒𝑐  {
∆𝑢1𝑡 = 𝑢1𝑡 − 𝑢4𝑡−1 ;  ∀ 𝑡 = 1,2, … , 𝑇;
∆𝑢𝑖𝑡 = 𝑢𝑖𝑡 − 𝑢𝑖−1𝑡     ∀ 𝑖 = 1,2,3,4        

 

min
Xt

∑(
Xt
It
−
Xt−1
It−1

)
24𝑇

𝑡=2

 

∑ Xt
4𝑦
𝑡=4𝑦−3 = 𝐴𝑦 y1, ...,T 

 
1  Voir Nicolas PONTY (2001) ou Gregoir S.et Lacroix R.  

 

2 International Monetary Fund: Quarterly National Accounts Manual. 2017 Edition, Pre-Publication, november 

2018, 86-126, (2018), https://www.imf.org/external/pubs/ft/qna/ 

https://www.imf.org/external/pubs/ft/qna/
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Ay

Xt

It

Xt

It

I4T+k

4T + k

X4T+k = I4T+k  ×
X4T
I4T

4T X4T+k (4𝑇 + k)ieme 

4T + k kieme T + 1
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